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1. Attempt  parts : 2×10

(a) 2, 4, 6 trinitrophenol is referred as picric

acid, although it does not contain any

carboxylic group. Explain.

(b) 2, 2, 2 trifluoroethanol is a stronger acid

in comparison to ethanol. Explain.

(c) Arenediazonium salts are more stable

than alkanediazonium salts. Why.

(d) Amines have higher boiling point in com-

parison to hydrocarbon of comparable
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2. (a) Bezene and aniline show 
max

 at 203 and

235 respectively. Explain why higher 
max

value is exhibited by aniline. 2

(b) How would the IR spectrum of following

pair of compounds differ 4½

(i) and

(ii) and

(iii) and

(c) Give IR values of C=O group in saturated

aliphatic ketone and  unsaturated ke-

tone. 1
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kegâue ØeMveeW kesâ Gòej oerefpeS~ nw~
ØelÙeskeâ FkeâeF& mes ØeMve keâerefpeS~
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molecular mass but lower B.P. in com-

parison to alcohols of comparable mo-

lecular mass.

(e) Explain why aldehydes undergo nucleo-

philic addition reaction more readily in

comparison to ketones?

(f) Aniline is less basic in comparison to

ethylamine. Why.

(g) From the values of the 
max

 identify the

following dienes : 176, 217, 234 :

                      ,          ,

(h) Explain why carboxylic acid exists as cy-

clic dimers not only in solid or solution

phase but also in vapour phase.

(i) Explain why HI cleaves ether better in

comparison to HBr.

(j) Arrange the following in order of their rela-

tive reactivity toward nucleophilic acyl sub-

stitution
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meYeer Yeeie nue keâerefpeS :

šêF&veeFšês]Heâerveesue keâes efheef›eâkeâ Decue keânles nw

peyeefkeâ FmeceW keâesF& keâeyeexefkeämeefuekeâ «eghe       nw~ keäÙeeW?
šêF&HeâueesjesFLesvee@ue FLesvee@ue keâer leguevee ceW Skeâ

Øeyeue Decue nw~ keäÙeeW?
Ssjerve [eF&]peesefveÙece ueJeCe, Suekesâve [eF&]peesefveÙece ueJeCe

keâer leguevee ceW DeefOekeâ efmLej nw~ keäÙeeW?

SceeFbme legueveerÙe DeeCeefJekeâ õJÙeceeve kesâ neF&[êskeâeye&ve keâer
leguevee ceW GÛÛe Gyeueles nw uesefkeâve Suekeâesnesue keâer leguevee

ceW keâce Gyeueles nQ~
Su[erneF[, keâeršesve keâer leguevee ceW vÙegkeäuesDeesefHeâefuekeâ S[erefMeve

Øeefleef›eâÙee DeefOekeâ Deemeeveer mes osles nQ~
Ssefveueerve, SefLeue Ssceerve keâer Dehes#ee keâce #eejerÙe nw

efvecveefueefKele ceW efoÙes ieÙes kesâ ceeve mes [eF&veme ]keâes

henÛeeefveÙes : 

keâeyeexefkeäpeefuekeâ Decue ve kesâJeue "esme Ùee meceeOeeve ÛejCe

ceW, uesefkeâve Yeehe ÛejCe ceW Yeer Ûe›eâerÙe ef[cej     ceewpeto nw
mecePeeDees~

F&Lej ke sâ efJeÛÚsove ceW me s Dee fOekeâ GheÙegòeâ
DeefYekeâejkeâ keäÙeeW nw?

vÙegkeäuesDeesefHeâefuekeâ SmeeFue ØeeflemLeeheve keâer efoMee ceW Gvekesâ

meehes#e Øeefleef›eâÙee kesâ ›eâce ceW efvecve keâer JÙeJemLee keâerefpeS~
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3. (a) The IR spectrum is split into two main

regions. What are they? Give the impor-

tance of each region. 3

(b) What are the different transitions ob-

served in UV spectrum. Arrange these

transitions in order of decreasing energy.

2½

(c) Calculate the 
max

 of following com-

pounds using woodward Fieser rule. 2

(i)                         (ii)

(a)

(b)

(iii)

(b) Give the mechanism of autoxidation of

ethers. 1½

(c) With the help of reaction show that claisen

reaction is intramolecular. 2½

7. Complete the reaction and suggest the most

probable mechanism. 2½×3
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efvecveefueefKele Ùeewefiekeâ peesefÌ[ÙeeW keâe DeeF&.Deej. mheskeäšĉe kesâ

yeerÛe Deblej efueefKeÙes :

Deewj

Deewj

Deewj
meble=hle Ssuee rHewâe fškeâ keâeršessve SJeb DeuHeâe, yee rše Demeble=hle
keâeršesve ceW «eghe keâe DeeF& Deej ceeve efueefKeS~

DeeF&.Deej. mheskeäšĉe oes cegKÙe #es$eeW ceW efJeYeeefpele nw~ Jes
keäÙee nw? ØelÙeskeâ #es$e keâe cenlJe oes~
efkeâleves lejn kesâ meb›eâceCe JÙetJeer mheskeäšĉe ceW heeÙes peeles nQ?
Fve meb›eâceCee W keâes Tpee& kesâ Iešles ›eâce ceW JÙeJeefmLele
keâere fpeS~

F&Lej kesâ mJele:-DeekeämeerkeâjCe keâer ef›eâÙeeefJeefOe oerefpeÙes~

DeefYeef›eâÙeeDeeW keâer ceoo mes mecePeeFÙes keäueeÙemesve DeefYeef›eâÙee

Fvšêceeuegkegâuej nw (DeeCJeevleefjkeâ)

DeefYeef›eâÙee keâes hetCe& keâjW leLee mebYeeefJele ef›eâÙeeefJeefOe efueefKeS~

λ
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 → → →
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4. Give the name and structure of the products :

1½×5
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5. (a) Predict the product and give the mecha-

nism of following reactions. 6

(i)

(ii)

(b) With the help of reactions using Lucas re-

agent explain how the three category of

alcohols can be identified. 1½

6. (a) Identify the products formed in the fol-

lowing reactions. 3½

(i)     BACH–O–CH

CH

CH
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3

3
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(ii) DCCH—CH—CH OHCHNa–OCH
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efvecveefueefKele ÙeewefiekeâeW kesâ Jeg[Je[&-efHeâmej kesâ Devegmeej 

efvekeâeefueS-

Fve GlheeoeW kesâ veece leLee mebjÛevee efueKeW :

efvecveefueefKele DeefYeef›eâÙeeDeeW keâe Glheeo yeleeFS Deewj Fvekesâ

yeveeves keâer ef›eâÙeeefJeefOe oerefpeS~

uegkeâeme DeefYekeâce&keâ keâe GheÙeesie keâj, Øeefleef›eâÙeeDeeW keâer

ceoo mes, Sukeâesneue keâer leerveeW ßesefCeÙeeW keâes kewâmes henÛeevee
pee mekeâlee nw?

efvecveefueefKele DeefYeef›eâÙeeDeeW ceW Glheeo keâer          keâerefpeS~
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 →

 →+
⊕

+ →

 → →
+

 →

 →+

 →++

 →+
+

 →+
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8. (a) Synthesize the following compounds from

aniline. 3

(i) 1, 3, 5 tribromobenzene

(ii) Fluoro benzene

(a)

(i) 1, 3, 5 

(ii)

(b) Complete the reaction. Give the name

and structure of the product formed.

4½

(i) BABrCHCHCH Ni/HNaCN
223

2

(ii) NaOH2COOHCH–CHC–CH 23  (C)

OH/
H

2

)D(

Ssefveueerve mes efvecveefueefKele ÙeewefiekeâeW keâe             keâerefpeS

šêF& yeÇescees yesvpeerve

Heäueesjes yesvpeerve

efvecveefueefKele DeefYeef›eâÙeeDeeW keâes hetCe& keâerefpeS~ Glheeo keâe

veece leLee mebjÛevee efueefKeS :
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 →+

+
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(iii)

(iv) ]G[ZntCOCHBrCHOCH EtherDry
223

(v) ]I[NHHCCOCHC NaOH
25656

9. Give the product and mechanism of the fol-

lowing reaction : 2½×3

(i)

(ii)

COOH

]F[]E[
–

22 OHNCH

OH2
/H

]H[

(iii) .)alc(KOH3CHCNHHC 3252

2NO

HC/Sn

NaOH/Br2

2CONH

 →+ε+

 →+

 → →

+

 →++ ∆

 →

 →
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